ME 4812 Automotive Engineering Design
HOMEWORK #6  

Due April 3rd at 1:00
PROBLEM 1

If the SUV trailer combination shown has

dimensions as follows:

SUV length = 4.630m

SUV wheelbase = 2.794m

SUV rear overhang = 1m

SUV width = 1.794m

Trailer length = 6.880m

Trailer hitch to wheel = 4.200m

Trailer width = 2.230m

Find:

a) The minimum outside turning radius needed if the inside turning radius available is 10m.

b) a) The minimum outside turning radius needed if the inside turning radius available is 2.5m.

c) a) The minimum outside turning radius needed if the inside turning radius available is 0.5m.

d) The actual steer angles of the left and right wheels for the three turns above.
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